BREEHTEZFOMHERERRE GHERLF1—L40) 1/4
RERE  FR29FE1181H (k) ~FER29%E11 8308 () (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (118) tymh134+137 (b994136+137)
[EES _AD BB LT =#EHHE])I1H [ 158 (k) NS 7.7
EES HhJ — At 148 (N) ESE 10.3
FIESES ARF+ BB LT AHRET 20H(8) A& 8.6
AEES ARF+ LR EHBTR 2] | 225 (k) A& 9.4
HESES ARF+ 8L HADERET 13H(A8) A& 9.9
[JEES HUTST7— [ZHXNTH 148 (N) ESE 11.6
HEES FI14%F EB LT AHEET 17H (&) A& 8.0
R EES FrRY Al EBFH 14H (N) T 8.8
CEES F Y — AT 7H(N) NS 11.8
[NEES avVYF a8l 21H(N) ESEE 13.8
(HEES HYNYTE EBLLI T A HET 1TH(K) T 7.6
[AEES HYNAE EBLLI T A HET 8H () 10.0 6.2
[EIEES HYNAE EBLLI T A HET 29H (7k) T 7.0
14|553% YYYTE L =1EHETIEL | 9H(K) A& 8.7
(HEES Yh1E EB LT AHEET 8H (7k) 8.1 7.6
IBEES Yh1E BB LT AHEET 8H (7k) A& 8.4
(HEES Yh1E BB LT AHEET 14H (X) A& 8.9
[EIEES Yh1E BB LI AHEET 21H (N) A& 10.4
[EIEES Yh1E B =FEHETH#IL | 9H (K) A& 8.0
P EEES Hr1E L =FEHATEL | 9H(K) A& 6.9
Py EES Jvr A1 E 8L = A HHE] 2H (K) T 8.7
22| B35 EPE; a8)lm 8H (X) 26.8 10.4
23| Ty 8L E R BT S HEY | 28H () A& 12.5
A ESES ERt=V Al EB~FH 148 (N) NS 10.0
25| FF52 ERt=V Al EB~FH 1H (7k) T 7.0
P EES ERt=V BB ZFE [ 14H(CN) T 7.9
IEES 43 EILMERATZHE | TH(OX) A& 7.7
K EES 43 ELLMERETZHE | 8H(K) A& 6.1
LIEES 43 EB LI AHEET 13H(H) A& 8.9
ENEES 43 EB LI AHEET 20H(8) A& 12.3
I ES 43 EB LI AHEET 24H (&) A& 6.7
32| Fp5 ERt=Vi BB LT AHEET 27H(B) NS 6.2
33|83 ERt=P BB LT AHEET 28H (N) IS 9.5
A ESES EEE=P] BUHEAAECR] 264H (£) NS 7.7
S ES 43 LT EAHTERE | 30H (K) A& 11.3
36|73 43 LT EAHTERE | 30H (K) A& 10.1
Ry ESES ERt=V 8L BT | 22H (k) NS 8.2
38| Fp3e ERt=V BB\ HAN BT 13H(8) & 7.3
39| Fp5 ERt=V ERLT =FEHBT/IH [ 105 (£) NS 10.4
MEES EEE=P] a8)lm 7H(N) NS 9.0
MIESES EEE=P] —AKTH 7H(N) NS 6.1
IV ES Y14V () |ZFWmm 7H(N) NS 9.2
43|59 Y EBILUTHNITEE 1485 (X) A& 12.3
M EEES FTAHAE BB LT AT 8H (7K) NS 8.7
S EES FAHAE BB LT AT 29H (k) NS 6.5
yEES EXF B ERITZHE | 7HCON) & 9.4
NIESES EXF B ERITZHE | 8H(K) NS 9.7
R ESES EXxF BLHEXEITERER | 308 CK) & 13.5
CIESES EXF LT HMBE 2 | 8H(K) NS 13.4
I EES EXF —AWTH 148 (N) & 10.7
Sl EEES —VIY Al EB~FH 148 (N) & 11.9
S ES —IY BB LT AHEET 13H(8) NS 10.9
53| Fp3 —VIY ERILTH=FEHBT/IH | 105 (£) & 11.7
AEES NTTA BLHEENZFE [ 14H(CN) & 9.2
L ESES NTTA BT ERITZHE | 7HCON) NS 6.5
Y EEES NTTA B ERITZHE | 8H(K) & 6.8
iEES NITA BB LT AT 205 (A) & 8.7
S ESES NITA BB LT AT 206 (B) T 10.2
S EEES NITA BB LT AT 21H(N) T 12.4
[QEES NITA EBLL T AT 28H (X) T 6.7
61|Hx2 NOYA EBILUTEAHIECA | 26H () AR 6.1
62|H 32 NOYA EBLUHEAHTEHER | 30H (K) AR 9.6
63|H %2 NOYA EILTmEAHTERE | 30H (K) AR 1.4
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BREEHTEZFOMHERERRE GHERLF1—L40) 2/4
RERE  FR29FE1181H (k) ~FER29%E11 8308 () (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
== AH7>7-3Y mB FREY (118) Y94h134+137 (B794134+137)
[AEES N4 LU =1EHET]IIH]| 6H(B) A& 10.0
[HEES NTHA B U =FEHA] R [ 245 (&) NS 8.9
[PEES NTHA — At 148 (N) ESE 8.2
67|FF2 E—<v HA™ 2B (K) NS 16.0
[RIESES -J0Ov3dl)— EBUHEAHIMECA | 24H (&) A& 20.6
[LIEES J0v3U—  |BLUTmHENESFL [ 13H(A) & 15.7
70|55 -Z0Ow3dl)— L =1EHETIEL | 9H(K) A& 12.4
HEES JOvadU— |B&E]llm 28H (IN) T 12.4
[AEES ==KV bk BT ZERIRE | 206H(A) NS 13.3
73|53 —ayv BUREAHETERR| 8H(K) A& 6.3
IAEES —av 8L BT 1] | 22H (k) T 7.8
75K Gk, B=k%) |[HEK BB LT AHEET 27TH(B) A& 8.5
ANERE R A BB L LI 18 0K) 247.6 9.7
TTILE - TR |1 v Ry I XY |[BBILTHEEHR] 7THCN) 4,138.5 12.5
8[ILE - TR [FXXUAY  |[ESMEREEHE] 208 (B) 1,495.0 13.4
EINERE R APPEL: 2EGINT 105 (£) 47.6 9.5
NERERACPEY: 8L &R 7H(N) 75.5 9.5
IR A PDER: BILMERATZHE | 1HOK) 60.9 8.9
ANEREIACPEY: BLUHERITZHE | 6H(A) 53.2 11.5
LEINERE A PEER: ESAER R Ea (U HT 2H (K) 63.1 10.6
B4lUx - = CF (VUS4 (zn) [BRLLUHREETEE] [ 7THON) [V 8.2
L MEREIO R AR a8l 6H(H) 40.8 12.6
ANEREIAPEEY: HAE =&FH] 68 (B) 74.3 13.9
NEREI A PEEY: HAE =&FH] 68 (B) 59.8 15.7
88[lLE - =R [VETUI XY BT =FEHHE 8H (7k) 1,538.5 11.4
ENERERR:APIEPED BLUHmEREITZHE | 6H(A) 625.6 11.8
NNEREAPIEPES; B8 AT LU 68 (B) 489.5 10.5
FNEREAPIEPES; BB AT BT <FLL 68 (B) 61.8 13.5
CANEREAPIEPES; BB AT BT <FLL 68 (B) 681.9 15.8
CENEREIAPIEPES; BB L AT BT <FLL 68 (B) 41.5 12.6
CAMEREIONE A PIEPED) A= 8H (7k) 248.5 16.7
CHNEREIAPIEPED, B8R e O] 208 (B) 159.1 11.9
9|3 - EDCEE OV XY (Zh) |BBLUTHEME] 8H (X) 22.9 8.9
97|32 - EDCEE [OI XY (Zn) |BBLLTHEMEI/NI] 18 0K) 14.6 9.1
Bl -0 [0V XY (Zn) |BRLUHEMNETLF 7H(N) 81.1 9.0
VK- =D [>O0Y XY (&) |BLUHEMNESEL 7H(N) 313.9 10.5
100[ZE - FOCEE OV XY (&) |REBm 8H (7k) 251.0 9.1
101LE - EOCHE [RFYT BB LT Zh EH] 13H(8) & 13.7
102|3E - T [F X3 2EGINT 2H(K) NS 9.0
103[L3E - EQCFE [F X3 2EGINT 108 (£) 74.2 8.7
MANERER R AEES B L EHATET<FLL 9H (K) 508.7 9.4
105|132 - EQCFE [F X3 B8R e O] 148 (N) 19.8 14 .4
106]1LUE - EDC3E [ X3 (BEAR) [ERLLmHENEI<FLL 8H (X) 624.3 20.3
107Uz - EDCFE | X3 (BAR) | HEABISFL 8H (7k) 182.7 10.1
108[lL3E - =D CH [F7 X2 (7n) L EHATET<FLL 9H (K) 22.6 9.7
109[1L3E - =D CF [F7 X3 (@n) BT MBI [ 10H(2) 33.7 6.8
1M0[ILZE - EQCFE [ X3 (&) BT EANBI<FIL [ 138(8) 241.5 5.5
MLE - EQFE [7 X3 (&) BRI EATET<FIL [ 158 (k) 78.3 4.7
MUE - ED0ZHE (7555 BB L& R 18 (K) 90.4 16.0
MBE - EOFE|(ESHFT XKIMED L [Fh 8H (X) 2,021.6 11.9
MG|EE - EDCFE(ESHT BLHEE FFEEE| 27TH(B) 99.8 9.0
M5\ - EDCHE(ESHT B EFTZHE [ 28H (X) 18.0 11.7
1M6[lLE - TR [ESHT (7n) |[2FEMA 6H(H) & 7.2
MILE - FEQOZFE[RIXD HAN A =ZH] 7TH(N) 186.7 8.3
18| - EDCHE [ LF5T SEMA 7TH(KN) 56.7 13.0
M| - EDCH [ LF5T SEEINT 2H(K) 13.7 7.2
1203 - EDCF [ LF55 SEEINT 10H (&) 42.0 7.5
1IE - DO |[LF5T LU 7TH(X) 74.6 11.0
122 - EDZF [ LF5T BT E T 13H(8) 74.5 16.6
123 - EDH|[LF5T B EREITZHE | 1HOK) 59.8 8.1
124|3E- EDZF | LF5T BT SR EHET 6H(H) T 13.2
125\ - EDCH [ LF5T B8R s e (O] 6H(H) 59.1 14 .4
126[lLF - TR [LF55 (Zn) |[2FEMA 7TH(X) 10.9 8.9
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BREEHTEZFOMHERERRE GHERLF1—L40) 3/4
RERE  FR29FE1181H (k) ~FER29%E11 8308 () (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o yalb sy mB FREHE (118) tymh134+137 (b994136+137)
127 - EDCHE |[b5vFy Xy (@) |BBLUTEANE T&E | 65(8) AR 7.1
128[@N3E 155 WhEm/\&EE [135(8) 9.9 6.2
129| @ N3a El WHEM 30H () ESE 8.9
130[R=E AES BT ZERI4RE | 206H(B) NS 7.9
131[R= AES LT EERZFE | 2H(K) NS 8.5
132|R=E kS BB LT AHRET 7TH(N) A& 6.1
133|R=E AES EBLLI T A HIET 7H(N) T 8.6
134|R=E AES BB LT AHEET 8H (7k) 245 9.0
(EFHEES kS BB LT AHEET 8H (7k) A& 7.7
136| 5 kS EB LT AHEET 9H (K) 8.9 6.8
137|R=E AES EBLLI T A HET 108 (£) T 6.4
138|R=E AES EBLLI T A HET 17H(Z) T 6.9
139|R=E AES BB LT AHEET 27H(R) 16.4 6.1
140 R=E AES B LT = A HE] 248 (£) T 7.3
IIEES AES 8L = A HHE] 30H (K) 17.3 8.1
142| R E kS ELUHEABRIE<A | 15H (k) A& 7.4
143|R=E AES 1L HAN BT 13H(8) T 8.0
144 RE AES 31T H AN ] 1485 (N) 16.8 8.9
145|582 kS 8L HAOERET 2H (K) A& 5.8
146|RE hF 8L 50 HET 1H (7k) A& 7.8
147|RE hF EBLLI T A0 E] 1H (7k) T 6.8
148|R=E hF EBLLI T A0 E] 1H (7k) T 8.0
149|R=E hF EBLLI T A0 E] 248 (£) NS 7.3
150|R=E hF 8L =FEHATJIIE | 155 0K) NS 8.8
151|R=E hF ERILm =F=HETE8IL | 206 (8) T 8.9
152|R=E hF N N 13H(H) IS 10.1
153|R=E hUYv LIS XA HE] 28H (N) NS 6.6
154|R=E hUYv LIS XA HE] 28H (N) T 5.9
(EHEES AUy LT EAHTERR | 28H (N) A& 6.7
156|R= HhUuY 8L HANERET 27H(B) ISR 7.3
157|R=E AU N N 17H(£) 20.7 8.0
158|R=E Fo4 KR 15H (k) NS 11.7
159|R=E Fo4 BB LT AT 2H (K) NS 6.2
160|R=E Fo4 BB LT AT 248 (£) NS 8.4
161|R=E Fo4 L= A HHE] 6H(8) & 9.7
162|RE Fo4 8L = A HHE] 28H (N) 34.1 5.8
163|R=E Fo4 B =S XA HET 30H (K) 45.8 10.2
164|RE Fo4 EBLLI T 5 A0 HE] 28H (N) & 6.5
165|R=E Fo4 WNEEEBRI AT 10H (£) NS 14.2
166|RE IR EBLHEENZFE | 13H(A) 14.6 10.2
167|RE R BB LT AT 6H(H) NS 8.6
168|R=E R BB LI = AT 206 (B) NS 10.2
169|R=E IR BB\t HAN BT 6H(H) NS 9.2
170|R=E R a8)lm 24H(2) 20.3 11.8
HEES L= BRI Zh EH] 14H (N) 91.0 15.8
12|RE )= BB LT Zh EHT 21H(N) 71.8 14 .4
13| RE L= BB 6H(H) NS 1.4
174|RE H0 I IGE= i 7TH(KN) & 6.1
175|R=E +F BB LT AHEET 2H(K) NS 10.4
176|RE =hYv BB LT AT 248 (£) & 8.5
HEES 11X B LhZ T4k 8H (X) 13.9 7.4
178|R=E 1X BB LT AHEET 148 (N) NS 10.7
179|R=E 1X 8L RARY 248 (£) & 9.0
180|R=E 1X G =E=] 27H(B) & 6.5
181|R=E 1X LI AT 28H (N) NS 11.1
182|R=E 1X 1L = HET 148 (N) & 8.2
183|R=E 1X BLAEXALENLA] 278(B) 10.3 10.1
184|R=E 1X FEE 135(8) T 7.7
185|R=E 1X WNEEER 9H (K) 74 .4 10.2
186|R=E 1X A= 7H(N) T 7.8
187|R=E 1X A= 13H(8) 10.9 10.4
188|R=E >3 SRR A 2B (K) T 7.7
189(Z D ftk 52 ELHHEMEENATE| 298 (0K) & 5.6
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BREEHTEZFOMHERERRE GHERLF1—L40) L/4
RERE  FR29FE1181H (k) ~FER29%E11 8308 () (BN @ N 9LIb/kg)
=1 — = o ®RER X BHRRESET
=o AhF3Y mE FRENHE (118) t994134+137 (b994136+137)
190|F Dtk 52 L= ALLB] 22H (7k) A& 8.4
191 ZDfe =] 8L TE R 2 HEF | 21HCN) NS 9.1
192[F Dt NG B HFAIEBINT B | 29H (k) A& 5.9
193|Z D fe 173 (zn) LU EHANETER 2H(K) NS 12.6
194| Z Dk 173 (Zn) 8L A BT =1 68 (8) NS 9.4
195|Z D fth BH ELLTEREIZHE | 2H(K) 123.8 5.7
196 % D1t BA BILTERITZHE | 6H(B) 140.7 5.3
197|F D1th BA LT E AT = HE | 105 (&) 126.7 6.4
198|F D1t BA B ERATZHE | 17H (&) 261.1 6.3
199|F D1t BA LT E BT = HE | 206 (8) 333.2 6.0
200|F D1t BA EB LT AT BT AR ER 6H(8) 142.5 6.7
201|F D fth bR EB LT AT BT AR ER 29H (7k) 94.9 5.9
202(F ot BA BE™ 9H (K) 293.4 6.9
203[F ot BA A= 27TH(B) 280.0 6.6
204(F Dtk BA A= 30H (K) 232.7 7.0
205(F Dt BT —_ AT 2H (K) A& 8.9
206| Z Dk AF (BEHVE) | EERREIR RHT 68 (8) T 7.9
207| Z D fh AF (GENE)  [ERLLTHAHE] 14H (N) T 6.5
208| Z Dtk AF (GENE)  [ERLHHAIEE] 8H (7k) T 8.7
209|F D1t BBl BR R ER a2 H] 27TH(B) 31.3 9.5
210| Z D fh 7 (BR) EBLLI T A0 E] 1H (7k) T 20.1
211[ZF U (BR) LR BEFEEINATE | 148 (X) A& 16.6
212[F 0tk RN £81L T HA0 BT 158 (k) 13.3 6.9
213[F 0t RN LM HIHETSE | 206(H) A& 6.9
214 Z Dfb AEY ELLTERIDIA | 24H(R) 48.7 5.2
215|Z D fb EE BB LT AT 2H(K) T 15.9
216|Z D fb EE I GE=y il 21H(N) NS 11.0
217|Z Dfe A2 B EREITZHE [ 21HCN) T 9.3
218 Db A2 B AT IE S 2H(K) T 9.8
219 ZF Db A2 B L= X LLH] 22H (k) NS 6.7
220| Z D fth NFZY BB LT AT 14H (X) A& 6.9
221|Z0fb T BB LT AT 148 (N) NS 7.5
222|F Dfth i EBLUHEARITERER| 21H (N) 30.1 7.0
223|F D1t i EBLUHEABTEHEER | 22H (k) 34.8 1.7
224|F Dt i LT EAHTERE | 30H (K) A& 6.7
225[F ot i L L= HET 17H (%) A& 10.7
226|F D1t YR 2EENT 27TH(H) 30.4 6.3
227|ZDfb TYRU BLUmAEITRE [ 1580K) 21.3 8.5
228|F D1t EILE EB LI AHEET 24H (&) 41.8 17.2
229[H29FE K K (ZKXK) Wh=Emh 2H(K) NS 8.7
230[H29F =K X (BX) BB LT AHEET 9H (K) NS 8.4
231[H29F =K X (BXK) BB LT AHRET 10H(£) & 8.6
232|H29F =K X (BXK) BB LT AHEET 22H (k) & 8.2
233|H29F XK X (BX) EHE 22H (7k) A& 5.6
234[H29F K X (BX) =R 22H (k) NS 5.6
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